Unit 4 — ICS3U0 - Java Applets
Sample Test - April 26, 2024

Name: G?Dfékf‘

Total o Knowledge&\efﬂ Communicationﬁ%’ Thinking f ApplicationE"

(80) % (20) (20) (20) (20)

Communicationsf%‘ X e of the st ia 1,

1. Outline one way to achieve the indicated aspect of user-interface design ir?fﬁe épplet shown. /3

a) Visuall —uAl 0wy -Chbrn f Lsamrfar
2 appealiyng ﬁ =use Prefinrt oty ruﬁ/ﬁ;: ot m:\z;ojv&?fi’ﬁ:','_wll e ,i
(b) Restricts Input | - e Tlapel ractted »f" Tt Lol of on o{t;,/;l,k/ -9 | o |[7]
- Disoable Buthpey when fhey chouldd pe chckdyfl a1l s 7]
(c) ErrorHandling | _ 4,/ q reset /umoly but o ieasl 2 g ]
B -cold ity 4o hnrolle javelid ofatn 0,dny ShErRRLiang:
2. Which colour is created by each line of code? % /6
(a) new Color (%,2%‘5,’0) G e on (d) new Color(0,255,0) G reos 61) pb;;/,\
(b) new Color(255,0,255) r’l%a(‘,fm_i"ﬂ (e) new Color(255,255,0) df/e///om/ Cndtert
(c) new Color(0,0,0) bﬂ’ J (f) new Color(255,255,255) 70"/'/7"6
3. Fillin the following about applets. Ao It = SO0 Loy WhaT 01 7 ALt e LS /8
ne.A/ (a) Whatis the word that signals construction? !
T ( werke (@) cleay by ) (b) What is the word that signals an accessor? ~"“7570r =Se f
&f e 0{ ayl ) J / () Whatis the term for allocating memory for a variable?
Con (’IL}’M C’-{‘? b V! (d) Whatis the term for setting up RAM for a widget to use?
i u_f-ﬂ—/-f b (e) Whatis the term for changing a widget's RAM?

command lin jn-k,,qc, a2 () Whatdoes CLI abbreviate?
M < LUt = Gmfpﬁrc User Interface

[ (g) How many times does initrun? 4., 7 Gt $Hew /—
M any (ag many ag user | (h) How many times does ActionPerformed run?
/ wrnts) Lwhen] wWhest bufon elic/s o

4. Why is user-centric design important? Use a specific example. (3 sentences) . /3
Usee cewhr o a&&ta% uses ffr&.%ﬁ%’ﬁ o jm.yo-{ aémrl s+ mr&’flﬂkes,
Frevarv}ﬁ DTS IS mp rtant beouse Wtryore hag 'bf‘f——dm/{’
O |.'/ICorr€c/+ o{a{q—&r\’l’f y Can. Cawmse Sexioud m‘Wj.
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Thinking ﬁ

9. Circle the location where each line of code should be placed. /6
a) importjava.applet.Applet; global init actionPerformed
b} add(b1}; libraries global (ini actionPerformed
c) JLabel result; libraries init  actionPerformed
d) resultsetText ("Diameter =" + (r * 2)); libraries global init actio@@med
e) radius = new JTextField (6); libraries global actionPerformed

f) intr = Integer.parselnt (radius.getText ()); libraries global init actimed

10. Fill in the arrows on the screen flow diagram using the actionPerformed method.

Lines should not cross. Lines should not have curves, only line segments. /5
public void actionPerformed (ActionEvent e}
{ //moves between the screens
if {e.getActionCommand {).eguals (“A"))
Screen 0 { 1 \ cdLayout.show {p_card, "3");
else if (e.getActionCommand ().equals ("B"})
cdLayout.show (p card, "0");
Screen 3 Screen 1 else if (e.getActionCommand (). equals ("C"))
cdLayout.show {p card, "3");
Q-\- / else if (e.getActionCommand {).equals {"D"))
cdLayout.show (p_card, "1"};
2 else if (e.getActionCommand (). equals ("E"))
cdLayout.show (p_card, "0");
Screen 2 else if (e.getActionCommand {).equals ("F"))
cdLayout, show (p_card, "1");
_LE] :
11. Circle and correct 5 errors in this button code. /5

JButro N
JButton start = new JLabgl("Enter");

start.addActionListener(this);
start.éégictlonCommand(“Enter");
start.setPreferredSize (new Dimension (250, 20))
start. setBackground(Color.g@%?k), (@h+'wjd )
start.setForeground(Color.black); bla cf o bhck

add(’ n);
STent

12. The beavers are named using the decision tree on the left. Put the right picture in each button. /4

| YES § apng !bpng |cpng |dpng |epng
T,
el

JButten Ash = new JButton(createlmageIcon( 12 .png));
YES/\]NO

YES NO | JButton Deniz = new JButton{createlmagelcon( € .png));

¥ MR E'
) = I I P ;
ASH DENIZ : R UL ING JButton Raul new JButton{createImagelcon png))
JButton Ming = new JButton{createImagelIcon ( I/\ .png));

oflers were possible
above were  mal correc



